Al o| ME: ALBRAY| B IS4 EAER
= = quae | Z55| 52
H-8-ME-5 Off A oH °
B A 64,204,602 | 48,847,711 15,356,891
600 Ateig=ol 15,995,875 15,416,591 579,284
610 F4ol 5,910,026 | 5,910,026 0
611 AlRR4Y 5,760,026 | 5,760,026 0
02 7HYBITEAIERR 1,774,284 1,774,284 0
- SEEAER S Y 10,7989 x 13,6934 x 1274 = 1,774,284
06 YEESt+EAER 3,782,221 3,782,221 0
- SHEEAIE RS Y 100,186% x 3,146% x 12711€ = 3,782,221
08 USYESTZAER 74,439 74,439 0
- SHEZAER S Y 563,932 x 112 x 1274¢ = 74,439
10 ARIYUIHEFTTAIER 52,888 52,888 0
- SHEEAIR RS Y 200,3379 x 227 x 1274Y = 52,888
12 J|ElsteZAIER 76,194 76,194 0
- SHEEAE RS Y 211,6529 x 307 x 1274Y = 76,194
661 7|EtI P42l 150,000 150,000 0
03 7EleLESY 150,000 150,000 0
- 22| AlE 22| 12,500,000 x 128 = 150,000
670 ¥4 10,085,849 | 9,506,565 579,284
671 02442 35,000 70,000 235,000
01 0OI20|2t4¢ 35,000 70,000 235,000
- 0202 5 ¢ 35,000,000 = 35,000
672 EfS|AHYS4 10,046,649 | 9,422,365 624,284
01 Lets|AHHYZ 4,375,049 | 3,790,599 584,450
O 7HEZ SHRY HZAAH 2228 300,000,000= 300,000
O HYAHSANY 224 150,000,000 = 150,000
O7IBAE| 7Y 2| 97l4 stet2 7|srIT 400,000,000x14l = 400,000
OFastrzeA|d 29 &2 QZHEF(21714)
1,704,331,000x14] = 1,704,331
OJ 3ot A HAHH|(LFH|, oA, £3{2|2{2[H])
754,580,000x14l = 754,580
Oz 2{2|A|d 2Fae| Tzt EE 566,545,000x14 = 566,545
O Al ZLtH|(AFH|, des4t], S2{Z[H2[H])
378,346,000x14l = 378,346
OFATMS 2Y 2| DIZHQIEZ(7714) 121,247,000x14 = 121,247
02 EISEsAHYZ 5,671,600 | 5,631,766 39,834
O +=2WHELHIA MYF 5,671,600
- BHE7|ZAIM 2| 5,671,600,000= 5,671,600
679 7|EtEel49 4,200 14,200  A10,000
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n 2
100 A2H¢ 48,208,727 | 33,431,120 14,777,607
150 HIRSRA+ 2,356,191 0| 2,356,191
159 7|EH|R S22+ 2,356,191 0| 2,356,191
09 7|EHIRSEAHsY 2,356,191 0| 2,356,191
OSEMEANZE|Z 82 2,356,191
- Sl2| 33t 2lAd SHAY 1,274,191,000x 1Al = 1,274,191
- HY, 4o Sl RE FHAKY 1,082,000,000x 14l = 1,082,000
2 42,152,536 | 30,131,120 12,021,416
¢ 0| 1,000,000 | 21,000,000
=Y 0| 1,000,000 | 21,000,000
173 ESIAAEEZRE 41,152,536 | 29,131,120 12,021,416
01 IFnERIFSY 33,956,000 | 16,582,800 17,373,200
O 2NERIALQ 33,956,000
- (501& OFSotek FH|)29, 4T 5t-2t2 ZHIALY
874,000,000= 874,000
- (5012 OFSote e PH|) eSS L2332 AE H2AY
308,000,000= 308,000
- (ote2{2d &5 dela 3ot 2| Al SHAF(14))
6,469,000,000 = 6,469,000
- (Bt 2lY &) Y S SotrH 2| Ald SHA(24))
768,000,000= 768,000
- (ote2{2ld &E) AT ot 2| AlE SHAR(14})
681,000,000= 681,000
- (B2 Y EE)NHSSotex e A SHAIS (231
151,000,000= 151,000
- (Bt ElY &E)SE AR S SotrA A SHAL (12}
930,000,000= 930,000
- (ot M2 YH)YE 4 stz ZHIALY 6,310,000,000 = 6,310,000
- (St 2FH)) 2| AR sheatE HHALY 3,674,000,000 = 3,674,000
- Bl Y2 st T2 HH| AR (2CH) 6,369,000,000 = 6,369,000
- (ot 22 YH))7HE S ot 2 FHIAY 1,809,000,000 = 1,809,000
- (B2 ZH)SH HoUH 4H tE 2 HH|ALY
775,000,000= 775,000
- (B2 EH) Y Y = Sote 2 FH[AY 682,000,000 = 682,000
- (G HR2YH)ZZH oot A 430,000,000= 430,000
- (ot 2YH) HAH ot 2 HHIANY 3,226,000,000 = 3,226,000
- 7HBR| 3714 ZQIM Al JHHA (7. S E N4 500,000,000 = 500,000
02 ERAHEEZRZSY 6,022,600 | 10,805,020 | A4,782,420




[ 7FE2oieEAA ] @
22240 8 A2Y0S4e NE ERIARLEZIL S el A EETAY
= = quae | SHe| B2
-8 MY = of A of
OYLHS|A HYU= 2,200,884
-HotH S0k2| St 2 SFALY 100,000,000x 14! = 100,000
-2HE7|=2 A4 ted 243,884,000x 14! = 243,884
-SH, Ho0, 4 Loz YHAY 455,000,000x 14} = 455,000
7B S SRR FHAY 310,000,000x14! = 310,000
-5 St 2 HHIAL (2EHA) 1,092,000,000x141 = 1,092,000
O stgeAEe7 s (+EN S EeAH) MYs 3,821,716
- S E7|=2A1E tid 843,716,000 = 843,716
- (SO E20ISotr =gl Sean2S3or A2 A E 2| AKY
103,000,000 = 103,000
- G2 EH)SH 29 48 L2522 YHAY
549,000,000 = 549,000
- (Bte2{elY &E) eSSt A2 SEAIE (12
2,326,000,000= 2,326,000
03 Al=HEZzZ+Y 1,173,936 1,743,300 A569,364
O AlzHEz2Z4¢ 1,173,936
- (0|2 OrSote: YH)2Y, ST Shet2 YHIALY
75,000,000 = 75,000
- Sk 2| &2)e|lSSotea 2 Al SEAIR(12h
120,550,000 = 120,550
- (k32| &5) d 8BS Sotr22 A2 SEAIY (221
65,829,000 = 65,829
- Sk 2|y &H2) M-S Sotea 2 Al SEAIE(12h
62,724,000 = 62,724
- B2y #E)U-ES S22 A2 SEAIY (221
20,133,000 = 20,133
- Gtr2eld #3) 2B LRSSt elAlE SEAIE (12
124,000,000 = 124,000
- G2 YH)ZEHU =S otrH2 YH|AY 57,000,000 = 57,000
- (St 22 YH) 2T St FHATY 430,000,000= 430,000
- ST APES St 2AlE HRIALY 52,000,000 = 52,000
- 7P82| 3714 S 2lAlE TH ALY (S8 166,700,000= 166,700
177 HRIAREF+Y 1,000,000 0| 1,000,000
01 JRIAREHF 1,000,000 0 1,000,000
O REHF =Y 1,000,000,000 = 1,000,000
180 REAS 3,700,000 ( 3,300,000 400,000
181 &=MAYAZ 3,700,000 3,300,000 400,000
01 &MAYNZ 3,700,000 3,300,000 400,000
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3,700,000,000 =

3,700,000




